

الف) $f(x) = \sqrt{\frac{x+1}{x}} - \frac{x}{x-1}$ $\frac{x-1}{x} - \frac{x}{x-1} \geq 0 \rightarrow \frac{-2x+1}{x^2-x} \geq 0$ $D_f = (-\infty, 0) \cup [\frac{1}{2}, +\infty)$

$\frac{x-1}{x} - \frac{x}{x-1} \geq 0 \rightarrow \frac{x^2-x-1}{x^2-x} \geq 0$

$\frac{x^2-x-1}{x^2-x} \geq 0 \rightarrow \frac{(x^2-x-1)(x^2-x)}{(x^2-x)(x^2-x)} \geq 0$

$\frac{x^2-x-1}{x^2-x} \geq 0 \rightarrow \frac{(x^2-x-1)(x^2-x)}{(x^2-x)(x^2-x)} \geq 0$

ب) $f(x) = \frac{1}{x+2} - \frac{2}{x}$ $\frac{x-2x-4}{x^2+2x} \rightarrow \frac{(x^2+x-2)(x-2x-4)}{(x^2+2x)(x^2+x-2)}$ $R = \{-\frac{2}{x}\} \cup (-\infty, -1) \cup [\frac{1}{2}, +\infty)$

$\frac{1}{x+2} - \frac{2}{x} \geq 0 \rightarrow \frac{x-2x-4}{x^2+2x} \geq 0$

$\frac{x-2x-4}{x^2+2x} \geq 0 \rightarrow \frac{(x^2+x-2)(x-2x-4)}{(x^2+2x)(x^2+x-2)}$

الف) $f(x) = \sqrt{(\frac{1}{x})^2 - 9} (2x - x^2)$ $\frac{1}{x^2} - 9 \geq 0 \rightarrow \frac{1-x^2}{x^2} \geq 0 \rightarrow \frac{1-x^2}{x^2} \geq 0$ $D_f = (-\infty, -1] \cup [\frac{1}{3}, +\infty)$

$\frac{1}{x^2} - 9 \geq 0 \rightarrow \frac{1-x^2}{x^2} \geq 0 \rightarrow \frac{1-x^2}{x^2} \geq 0$

$\frac{1}{x^2} - 9 \geq 0 \rightarrow \frac{1-x^2}{x^2} \geq 0 \rightarrow \frac{1-x^2}{x^2} \geq 0$

$D_f = [1, 2]$

$f(x) = \frac{\log(x^2-x-2)}{\sqrt{x^2-1}+1}$ $x^2-x-2 > 0 \rightarrow (x-2)(x+1) > 0$ $D_f = (2, +\infty) \cup (-\infty, -1)$

$x^2-x-2 > 0 \rightarrow (x-2)(x+1) > 0$

$x^2-x-2 > 0 \rightarrow (x-2)(x+1) > 0$

$\sqrt{x^2 - \frac{1}{x} - x^2}$ $-x - \frac{1}{x} + x^2 = 0$ $-x^2 - 1 = 0 \rightarrow x = -\frac{1}{x}$

$\frac{1}{x} + 1 = 1, 2, 3$ $\frac{0, 1 \pm 1, 2}{-2} = -1, 0$ $(b = \frac{1}{a})$

$-0, 1 + 1, 2 = 1, 1$

$f(x) = x \geq 0$ $f(x) \geq x$ $2x-2; x \geq 1 \rightarrow 2x-2-x \geq 0 \rightarrow x-2 \geq 0 \rightarrow x \geq 2$

$2x+2; x < 1 \rightarrow 2x+2-x \geq 0 \rightarrow x+2 \geq 0 \rightarrow x \geq -2$

$-2 \leq x < 1$ $D_f = [-2, +\infty)$

$$f(-r) = -f + r^4$$

$$f(a) = \sqrt{a} + \sqrt{a}$$

$$r f(a) = f(-r) + a$$

$$1 \sqrt{a} + 1 \sqrt{a} = -f + r^4 + f$$

$$a = -1, 1$$

6

$$f(x) = \frac{\sqrt{x} + r\sqrt{x} + 1}{\sqrt{x}} = \frac{(\sqrt{x} + 1)^r}{\sqrt{x}} = \sqrt{x} + \frac{1}{\sqrt{x}} + r$$

$$x_1 = r + \sqrt{r}$$

$$x_2 = r - \sqrt{r}$$

$$\sqrt{x} = a$$

$$f(x_1) = a + \frac{1}{a} + r$$

$$f(x_2) = \frac{1}{a} + a + r$$

$$x_1 \times x_2 = r - r = 1$$

ضرب متضاد یوں ہوتا ہے
پس انکے سرسے متضاد ہوں گے

$$x_1 = \frac{1}{x_2}$$

$$a^r + \frac{1}{a^r} = r + \sqrt{r} + r - \sqrt{r} = r$$

$$(a + \frac{1}{a})^r = a^r + \frac{1}{a^r} + r = r$$

$$a + \frac{1}{a} = \sqrt{x}$$

$$f(x_1) + f(x_2) = r(a + \frac{1}{a} + r) \rightarrow \boxed{f + r\sqrt{x}}$$

7

$$r f(x) - r f(-x) = f x^r - x$$

$$r f(-x) - r f(x) = f x^r + x$$

$$\left. \begin{aligned} r f(x) - r f(-x) &= f x^r - x \\ - r f(x) &= \Lambda x^r - r x + 1 r x^r + r x = r \Lambda x^r + x \end{aligned} \right\} \begin{aligned} - r f(x) &= r \Lambda x^r + x \\ - \Lambda f(x) &= r \Lambda x^r + x \end{aligned}$$

$$f(x) = -f x^r = \frac{x}{\Lambda}$$

8

$$(r) f(0) = 0 = r^m - 1$$

$$r f(0) = r^m - 1 \rightarrow f(0) = \frac{r^m - 1}{r} \text{ (I)}$$

$$x = -r \rightarrow 0 f(-r) + 4 f(0) = 1r + r^m + r^m - 1 = 1d + 2m$$

$$4 f(0) = 1d + 2m \rightarrow f(0) = \frac{1d + 2m}{4} \text{ (II)}$$

$$f(0) = \frac{(r \times \frac{9}{r}) - 1}{r} = \boxed{\frac{r^2 - 1}{r}}$$

$$\left. \begin{aligned} \text{I} \} r^m - 1 &= 1d + 2m \\ \text{II} \} \end{aligned} \right\} \begin{aligned} r^m - 1 &= 1d + 2m \\ m &= \frac{1d}{r} \end{aligned}$$

9

$$x = 1 \rightarrow f(1) + f(1) = r - 1r + r$$

$$\downarrow$$

$$r f(1) = -r$$

$$\downarrow$$

$$f(1) = -r$$

$$x = -1 \rightarrow f(-1) + f(-1) = \frac{r + 1r + r}{-1} = -1\Lambda$$

$$r f(-1) = -1\Lambda \rightarrow \boxed{f(-1) = -9}$$

10